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= 26,400
< 3,300
Al 3,300
OSt22IIE SXIAIE AKX MAHYI
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= 5,280
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< 161,859
Al 161,859
=D PIEPIE 54,000 50,000 4,000
301 et &t 54,000 50,000 4,000
01 At2I 2 & 54,000 50,000 4,000
OstR 2 NO= Jls=e X2l
2,000,000& = 27H 54,000
SR L2IIE=XIA 103,180 5,734 97,446
= 65,390
< 18,895
Al 18,895
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< 18,895
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< 5,750
Al 5,750
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< 13,145
Al 13,145
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FAHEEE X 92,062 92,062 0
= 58,650
< 16,706
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= 1,920
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O A7l 10,000& * 200 2,000
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OUZat=H A 8t0HE 20,000, 000& 20,000
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= 212,093
< 27,269
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11T M SXAISE EX 239,800 0 239,800
OHA)USSINSNALNH2 IR
239,800,000 239,800
= 167,860
< 21,582




AN GEIEY
M . 0ts .28 . A0S
S GBI sEH (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| Al 50,358
CRSIIFAHLE XN AN (H=) 53,757 53,757 0
= 37,630
< 4,838
Al 11,289
307 glz2+ol & 53,757 0 53,757
= 37,630
< 4,838
Al 11,289
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= 33,982
< 7,282
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= 33,982
< 7,282
Al 7,282
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= 11,328
< 2,427
Al 2,427
307 gl2tol& 16,182 0 16,182
= 11,328
< 2,427
Al 2,427
T M SXASEE X 16,182 0 16,182
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= 11,328
< 2,427
Al 2,427
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Jl2Zl 41,056 58,452 A 17,396
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201 €2l 17,416 12,728 4,688
01 At 22l 17,416 12,728 4,688
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